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Candidates are required to give their answers in

their own words as far as practicable.

Answer all the questions.

1.  Answer any two of the following: 1x2=2
@I 95 20ed TR wie 2

a)

b)

c)

d)

What is coding?
(IfER It e 2
What is dispersion?
Rpfs I a0 2
Define case study.
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What is questionnaire?
epafatl <5 e
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Answer any five of the following: 2x5=10
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a)

b)

g)
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What are the qualitative methods?
@a5e smhoul i 62

What is the meaning of central tendency in

statistical measures?
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What is sampling design?
AT AT FICF AT 2

What are the disadvantages of non-participant

observation?

wiceeze- R w97 sRdiei [ e
What is the significance of research?
SRR Ol &2

What is a ‘good’ hypothesis?

O &FE 0o B @Rl

Define observation as a method of data

collection.
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Answer any three of the following: 6x3=18
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a)

b)

When do we use primary data in research?

FY AT SN ANANF © I IR
s e

Discuss the meaning of logic in social science

research.

TG SiEReE Ifed o i o ST
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Find the Mean from the following data:
T 2Me SR AR G ez 59 5

Class Interval:[21-26|26-31|31-36(36-4141-46146-51 [51-56

Frequencies: 17 | 34 | 46 | 84 | 45 | 31 13

d)

e)
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Discuss positivism in sociology.
FAETSTG ACTFHAM H5{(F S T4 |

What is the relevance of hypothesis in

research?

AR AFE AEe! 52
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Answer any two of the following: 10x2=20
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a)

b)

d)
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How would you conceptualise hypothesis?
Make few hypothesis on the basis of an
example. 2+8=10
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What is ‘range’? Find the value of standard
deviation from the data given in the Q.No.3(c).
1+9=10
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What is sampling? Discuss different types of

sampling procedures. 2+8=10
TR I A0 2 [eq 407 Ty e
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What is the meaning of Interview? Discuss the
characteristics and application of structured

interview with suitable example.  2+8=10
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